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1.

There are 150 objective muttiple cheice questions in this Question Booklet. The Question Booldet is made of the Ellawing four
sections : Section-1 s of 30 questions, Section-Il consists of 2 languages — one first language, the other second language. First
language Hindi is compulsory for all students having 30 questions. Second language consists of two languages — English and

Urdu of 30 gquestions each. The Candidate has o answer efther one — English or Urdu as per hia/ her Application Form. .

Sectipn 1 and Section-1V eech has 30 questions.

T wegiE § F s R T | W e Fe an awi § fefam ¥ e 4 g0 v, amon
w—wmwﬁwmﬁqﬂmhmwﬁﬂ % o wfmEr & frnd a0 v §) T A 5o
F_ i mer 3% o so-0 we B srendl w1 o s w & sean feelt e - S s 9w I w0 )
I-01 T 9= o W 30-30 T £

in Section-Il, candidate hag to attempt the questions of Hindi languegs compulserily and any of the two languages — English
or Urdu as per his/ her Application Form. .
wm-uié,mﬁﬁﬁﬁgwﬁmﬂﬂmﬁaﬁm#q&mﬁmmﬁ-aﬁﬁmaﬁﬂﬂmﬁﬂmmmﬂ
AT o AR T

The candidate hos to anempt all scctions. Each question is of one mark. There I8 0o negative marking for wrong anawer.
The OME Answer Sheet consists of three copies. The candidate can taks the last part of the OMR Answer Sheet along with

the Question Booklet whiles leaving the eammination hall.
el i 5 1t 3o AT B A A W s w0 b1 e T o v Pt il v gty omm I

o & A T E | St W o T st oM T OF W 9 uh o av-gfeem o o v
The gquestion paper is made up of the Tollowing sections as tabulated Delow ’
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PAPER /94T : I

No. of Questions/F7 ¥ - 150  Time/AWAMTY - 90 min/fme Full Marks/9v1% - 150
Ho. of Question Nos. .
“;"',:,'}""‘ Contents / ferea-wmit Queations J T H Page Nos. / T Wl
! T | From /A | To/O% | From /® | To/T%
) | Pedagogy / TATHTITRA 30 1 30 2 7

(15} Languages [ W4T :

(First Languags [ WEH HTET) :
Hinat ; =t 30 31 60 8 11

{Compulsory/ AFTET)

{Becond Language/Tiwita HT6T)

English /3=t lﬁ one 30 61 20 1z | 1s
Urdu/ 75 /EETE) [T 30 61 90 16 19
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mj | Mathematics / 7O 30 91 20 25

v} Environmental Studies 121 150 26 a0
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Read the instructions in English & Hindi at Page No. 32, last page of this M:ﬂet.
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SECTION - 1 / W -
PEDAGOGY / fimsmymes

There are 30 questions in all in this Section. All questions are compulsory.
Wy Fa 307§ | mit v s €

1. The.stage in which a child begins to think logically about objects and events is know:
as N
A sensori-motor stage (B] formal operational stage

(C) pre-operational stage (D) concrete operational stage.
ar 7 fomd = et oy @ we & at A wfthw w9 A g e oww b, w0 o ¢
(A) TR oI e B sho=fs fFams sEen
() i foraes e (D) W frarmE s
2. Four distinct stages of children’s intellectual development were identified by
(A}  HKohlberg [B) Erlkson
[C) Skinner (D) Plaget.
Tl F WMew frem ¥ 9v gore w1 # vewm T @
W e ga B) o= g
C) =g (D) o g |
3. Parents should play a ........ccooocvveeiinne role in the learning process of young children.
(A negative (B]  proactive
(C) sympathetic (D) neutral.
T I Tl & AR WA § v #1 fee g e
W i B smwEg
(C) HagwE (D) A |
4. Which is the place where the child's cognitive development is defined in the besi
way ?
(& Playground (Bl School and classroom
(€)  Auditorfum (D) Home.
= & daArs fawm ® wed o= iE | wl vhiwfe fem w wwa 0
(A wAFIRAA (B) fooem wE wa
() anfefom & D) TEH
- is considered a sign of motivated teaching.
(4 Maxdmum attendance in class (B) Remedial work glven by the teacher
(C)  Questioning by students (D)  Pin drop silence in the class.
........................... %1 A foem & v oA ¥ v A fafam fem oo &
A FWH wfuwm ufeats - B Tows I e o I wH
(c) faenfefl gm v g (D) == o qui e

6. Al lower classes, play-way method of teaching is based on
(A)  theory of physical education programmes
(B)  principles of methods of teaching
[C) psychological prineiples of development and growth
(D) sociological principles of teaching.
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10.

et wansil # fonsor %1 @w fafa smafa ¢

) witfer fen srdwe ¥ fagim w @) foeo =t fafudi & fagh =
(€ foomwE ot ¥ At faga w (D) e % wfo fagtd o
Dyslexia is assoclated with

[A) mental disorder (Bl mathematical disorder
IC) reading disorder () behavioural disorder.
Feasifamm dafia ¥

(A) TEfEE fawn A (B) o faww &

() weA fawn A (D) =rEElfE fawn & )

Education of children with special needs should be provided

(&)  along with other normal children
(Bl by methods developed for special children in special schools

{C)  in special school
(D) by special teachers in special schools.

fadry =9 4 SETEE o= @1 (W W wEy g e

(A) TE T A= 6 A

@) i faemerdi ¥ fadre =t % fog fasfaa fafil g

i) fade fammem o

(o) fadra froerdl o fadre fineel g

In the process of learning, motivation

{A) sharpens the memory of learners

(B) differentiates new learning from old learning

(C) makes learners think unidirectionally

(D) creates interest for learning among new learners.

i % wa o sfairm

() s el w i A e g

® W wfom A T sAfem ® fadfea wwm

() UEREYm w9 A Hrad § b arel v st d

() ﬂﬁlﬂﬂﬁﬁﬁmtﬁmﬁﬂwmtl

A student of grade 5 with visual deficiency should be

(A) excused to do a lower level of work

(B) helped with his / her routine work by parents and friends
(C) treated normally in the classroom and provided support through audio CDs
(D) given special treatment in the classroom.

wan o ¥ A gfte aen w=n

) e ER ¥ wE w0 ¥ foan are o 3fea

B) TF i wrd A za% am-fom aw fosl w0 werm w5 @ty
cl w7 i WA w9 @ w9t O Wy ud anfed €@t & o wewmm wEm w5 =iy
(D) wean H favr =afa w0 wifew |
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11,

12,

13.

14

15.

16.

To maintain interest among students in class, a teacher should

A)  use the blackboard (B) discuss

(C) tell stories (D) ask questions.
wun H faenfeldl =1 +fa o9 v ¥ fom o fogs ) afm

(A) YR F WET B == w=

[C) wEH *F& (D) W gE |

Why should students play games in school ?

() It makes them physically strong

(B] It makes work easier for leachers

[C) It helps in passing time

(D) It develops co-operation and physical balance.
ferenfiai =1 faenera o den w5f sfaa & 7

(A) 9% I+ Wi B9 | T T

(B) uw faersl ¥ forg wm amE w0

(C) =% wwa fam F wwraE €M

(D 4% wEam vd wrifts d@gem o fawm wom

Family is a means of

A informal education (Bl formal eduecatlion

(C) non-formal education (D) distance education.

ofam oF wA

) i foesn = B ot fosn =

(0 R-sityafw faen =@ (D) 3re fonen =1 0

A teacher can develop social values among students by

A telling them about great people (B] developing a sense of discipline
iC)  behaving ideally (D) telling them good stories.

s foe farenfdel & wmnfoes gl =1 et i wwa

W) EA s & A § e B IO F S 9 fawfa
(C) ¥ ¥4 | TaE WY (D) 3% st wwfwl g |
What {s most important for a teacher ?

(A To maintain discipline in class (B) To be punctual in class

(C) To remove difficulties of students (D) To be a good orator.
wF fones ¥ o ol meerql #n & 2

(A)  we o I a (B) e ¥ gy €
(C) foenfddl #t Ffomat & 7w (D) & ga=m & |
Blackboard can be included in which group / category of teaching aid ?
(&) Audio aid (B) Visual aid

(C)  Audio-visual aid i} None of these,

varaag & e e arni ¥ e wye f snfw e o wwa t 2

A) == A B) %% &

(C) Z¥9-7=9 @A (D) T 4 = 7
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~17.  Which of the following is related with teaching skill ? :
A) Blackboard writing (B) Solving questions
(C) Asking questions (D) All of these.
=1 & § S fagor e @ deifta ¥ 2
@A) vEmYE R faa (B) U N FTA FEA
(& B LS B Gl (D) 371'51 ] qsft |
18. Students who ask questions in class should be
A) advised to meet the teacher after class
(B) encouréged to participate in class discussion
(C)  encouraged to continue asking questions
.(D) encouraged to find answers independently.
el & S forenef wet qod ¥ 9
@A) FE F a e | oo w1 o S
(B) & 9=l § WA 91 % faw wiewfea o s =g
(C) AR 9¥7 g2+ & forg dicarfea e =fey
(D) ToEd €9 QA SW g & fog denfea won =fey |
19. Kindergarten System of education was proposed by
{A) T.P. Nunn (B) ~ Spencer
(C) Froebel (D) Montessori.
foan =Y fepveamea wgfa =1 wfaae feran
@A) feo dto 773 B WA
© wEwEA » (D) HOREd X
20. A guardian never comes to see you in school. You will
(A)  ignore the child (B) write to the guardian
(C) go to meet him yourself (D) ~ start punishing the child.
T AT e femera # frer & ferg it e e ® 1 29
(A) I H I HG B) hnTEE W fagn
() v w=E I frer sd . (D) =R ITS [ YE FA |
21. - How will you bring a hyperactive child on the right path ? :

A) Make him sit in the front row and keep a strict vigil on him
(B) Allocate a seat for him in a corner of the class

{C)  Give him tasks of cleaning the blackboard, etc.

{D) None of these.

3 T sifvafwa S B FQ T ﬁ:sn ¥ @ ?

(A) 3 gEel 9§ Ae1d) a9 39 W HE A9 @i

(B) 39 w& % 1 # q37 =) wwe fAuif@ w5

(C) 9 MYz NfE 9rF HTA F FW I

(D) ¥7H @ *x T |
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22,

23.

24,

5.

26,

Children’s attitudes towards persons of different ethnic groups are generally based
upon

[A)  attitudes of their parents [B) attitudes of their peers

€]  influence of television (D) attitudes of their siblings,
qﬂ—mwﬁmm#m%mﬁﬁmﬁhmmm&
W T afuvEs # famf w B = wsfu w5 sfvefa o
C) 7 & gwmw D) 3% Wt %1 afugfa w |

You have been told to accommodate two mentally retarded children in your class. Yoy
will

A refuse to accept them as your students

(B)  tell the principal to accommodate them in another class exclusively for mentally
retarded children

(€} learn techniques to teach such students

(D) none of these.

MMWﬁﬂﬁ:iﬁ:ﬁ‘fﬁlﬁaﬁtfﬂqmwt 1 A

W 3 a7 famef F w9 A mew w3 @ R w69

(B) nmﬁﬁwaﬂ!wﬂﬁiﬁzﬁmﬁtmﬁmmﬂﬁﬁatﬂm
& forg i

(Cy TR Forenfifdl 9 frart #1 vt dia

(D) ¥ & = e

A teacher has to be resourceful. It means

W he should have enough money and property so that he need not offer tultions

(B]  he should have contacts at higher levels of authority

IC) he should have adequate knowledge to be able to solve the problems of his
students

D}  he should have good reputation ameng students.

% few R A wEm v e | s o d

A) - mmmﬂa—mﬁﬂmmﬁwﬂMﬁmmwﬂ
B) T8 st & 74 w0 A W v el

() mmﬂhﬁfﬂaﬁmﬂﬂmmﬁmmmmm
(D) famfidl & o 3t whef @t =firg

Emotional adjustment of students is effective in

() personality formation (B) class teaching
(C)  discipline (D) all of these.
7= & HEreE THre T g

1 =i i A (B) wun firepe o
(C) o D) FHIAMH

The current view of childhood assumes that

A children are similar to adults in many ways
(B] children are best treated as young adults
IC) childhood is basically a ‘wailing period’

(D) childhood Is a unique period of growth and change,




UPTET(Teacher Eligibility Test) Question Paper I- 2011 JAGRAN

uuuuuuuuuuuuuuuu

27.

28,

28,

30.

T W AiwieE g w oam ¢

(A) TER AH A TR WREEEE & w g

(B) ==l F gE WEATER] & ¥ H wEH We 9 o g

() = afes w9 | v ey’ @

(D) =9 3fg v i = o arEt smfu

In preparing a fifth grade class to take a standardized reading test, the teacher is best

advised to

(&  tell the children the test is very important and they should do the best they can

(B] mark key questions from a previous test and allow the pupils to answer them

[C] coach the below grade level readers, as the rest of the class will do well anyway

(D) glve the puplls practice in answering questions similar to the type that will
appear In the test.

TF TANEA 29 viem w1 & fiay ot ww ) vep W f foww = sfywfus s fam

wm &

Ay T W A e agn Ty & aw A T wel o wav

B e e & wum v B Tl s o el w o T 3w st

() fma e & s 1 wiage 39 ofF s & 9 = el ot ol | e w6

(D) e F AT e e F v F Im R & fan end # snamm w

A child from a disorganized home will experience the greatest difficulty with

(A} well-structured lessons (B independent study
(C) programmed Instruction (D) workbooks.
FHTET WA AEEn T gaa Afvw wfea | agvE wm

&) gfaiee el g B) wT sggH

ic) Toreifom fvdm o (D) svarg i |

(A} remain pleased with him

(B not give him additional homework

iC) motivate him so that he can make more progress

(D) inform his parents about the fact that he is intelligent.

M ¥ & v e ¥ 15w

W TEE WY R

(8] T8 afafts Tewrd et ¥

(C) = ¥ wfusw wfy =1 o T0 T I afE w6

(D) ToF Aol ® gfam $0 fs o gfemm b

If some students are not in a mood to study in the class, you will

&)  force them to study

(Bl tell those students to leave the class

[C)  warn them that they must study or else you will report the matter to the
principal

(D} tell them some interesting things related to their interest or your own subject.

aft o famdt wa A s =1 favgfa 9 - & @ 5w

1) T segma ¥ T ana w0

B 7 faenfufdl %1 wan gz ¥ fom wED

() T T ¥ fw A s A w1 A W@y w gfea w8

(Dl 3 T T AT A A v ¥ sEn s o e |
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SECTION -1
SPECIAL INSTRUCTION : There are questions on 3 languages in this Section.

Each language consists of 30 questions. The candidate has to answer the questions of
First Language Hindi compulsorily. Out of the other two languages, the candidate has
to answer any one — gither English or Urdu as Second Language, chosen by him /
her in the Application Form. Total number of Language questions to be answered by
the candidate is 60.

For First Language questions all answers are to be marked in the OMR Answer
Sheet starting from 31 to 60.

For Second Language questions all answers are to be marked in the OMR Answer
Sheet starting from 61 to 90.

et e 0 wm H 3w & we §, v w30 v & | et F wun v firdt &
W 1 T A T A w ) @ e — Hudt swar 3 A A et ww T fi
& w0 F e e T % SR w e d i B v ¥ TE 60 WA Fam ok

Vs wr & Wi i snadf w w3 OMR T 9T # 31 # 607 fafgm ot |
ferfrar sirer & woelf i) stvaneff =6t ot 37 OMR TR T 9 61 #90 7% fafgm wor k|

- II

wuw vt - f=h ( afard )
WA FE 30w § | it sfErd £

31. farsil oo @ 32 ot
- w7
W s Fw B) FH FwF
(C)  weEH s D) R wE |
32, 91 fod o % fom o v s
Wt gz § for wa b
(A) T (B) Wt
(c)  gfufes (D) svaERE |
33. #a wgd ¥
W afE w T g B) =t frra F 3o wm

(C) = fowy #t ForE wm # D) 3 feelt = Iomen = v £
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34.

35.

36.

37.

38,

39.

0.

4l.

i fadram
TH | WY T |

31

H

&l

araTe A §

Wl aem (B)
(C) =it wga s (D)
vy offT-oft =wem #

“wift- it e ¥

e (B)
(c) fordrm (D)
fordwr : (36 - 38) Fo v fed mu ¥, 3w e = g fafa
YA

A =1 (B)
[c)  wfa D)
Al

W T ()
€ @9 o)
T

TV (B)
c) w0 (D)

fEwm: (30-41) R Fo = A v@F w= | vgw v fon o feeedl @ 9

g
w s (B)
() = (D)
fefam
LY | (B)
c) #m o)
fug®
i = (B)
i 3= D)

g
& |

10 |
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42, T w9 w1 Temw #

() wm-fam (B) =umAfs

(C) ==uE (D) dam= )
43. Te=h frm fafy o fooht =t & 7

A  wTEd B)  FEEmTa

C) wrnsEt (D) et o
44, WM EFEA =L

n o B wfg

i) == m =m

ﬁin:lu-w}ﬁﬁfﬂhnwﬂ*uﬁtmﬁ:mmmaﬁﬁq:
45. (A) i B e

(C)  arqHfivs Q) i
46. (A) = (B, =

[C) s D)  s=meft
47. W g B) H{em

[ o D) F&
48, Frafafum 4 4 ®F-w v ‘amw =1 vatgardt £ 2

(VI -4 | =

(C) s (D) s
49. sf=al = st ¥ fan w e #

W g B =4 fam

(C) wwm gz iy fwafsm
50. ‘¥ ! 39 oy Ay o e e d

& Hm B =i m

C) =g o) fadam
51. fr=fafom & gfen e s-m & 7

SV L m

- (0 e D) =

11 |
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52. ‘e’ @ wiu-fa=de ®
(A U+ 3@EA ® 9+9
(© W+ @ @+ 3
53. ‘wARY' F wfy-fa=de gm
@) T+ B) WA+ I
©C TH+W D) ¥+
54. faenet sewTw §
@A) g @R gty w B) ’I“TWFF'“W
©) = wha D) e W why
55. ferym 3TEIw
@) faurd wfa B Irfe W) wfu %
© =i |ty (D) U & |y & |
56. SH-UKE ¥ o" oM aren (-) o ®
() srefam fag ® fawmEft sivs o
© A= g D) I fEE
57 RS Y A d R = d
@A) gdm B =
© frm fadmm 0y faw
58. 9 fed T fomedi § @ qod IS H T4 HIC
{a) ™ (B) 3H
© v ) fEE |
59. fed Tu famedl A @ AGUT VG 1 TFA B
@A T B R
© &= D) He !
60. fFrafafad § @ - v ‘gd’ & watEEr TR ?
@ TR (B) =

C) iy (D)  =fEAt |
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SECTION -II
Second Language — ENGLISH

G61.

62,

63.

64.

65.

There are 30 questons in all in this Section.
All questions are compulsory.

Which prefix can be used with the following words ?

take, chief, behave
() in (18]

Fill in the blank with correct preposition :

He deals «..oovccvvviiinen... rice,
A in (B)
(C] at (D)

dis

with

O1l.

Which suffix can be used with the following words ?

spoon, mouth
A iy B)
C) er (D)

For the question below, choose the best answer :

Shall we go to the gym nnw'?

(A} I'm too tired (B) .

(C) Not at all ()
Which is the adjective in the given sentence ?
The tall girl met a boy.

(&) tal (B)

C) met >

¥

ful.

It's very good

I suppose you can.

boy.

13 |
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66. Choose the option that is nearly the same in meaning :

arciernt

A new (B) mint iC) aged (D] sage.
67. Choose the option that is nearly the same in meaning :

plenty

A lot (B s=scarce (c) gift (D) bonus.
£8. Choose the word that can join the two given sentences .

Write properly. Don't write at all.

A but B) and C} so D) or.
69. Choose the word that can join the two given sentences :

She is pretty. She is proud.

(4) but (B) . because

(C) while (D not.
70. Identify the verb in the given senterice :

The leaves were yellow and sticky.

Al leaves (B] were

() yellow D) sticky.
71. Which is not an antonym of the given word ?

lovely

(A)  all (B ugly (C}] drab (D) awiul.
72. Choose the best answer :

What is your city like ?

iA} 1 have no idea (B) It's small, but nice

(C]  1like it a lot (D) I don't like it.
73. Identify the adverb in the glven sentence :

The wicked boy slapped the girl loudly.

(A} wicked (B) boy [C) slapped (D) loudly.

14 |
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74.  Choose the word opposite in meaning to the given word
drought
& food [B]  dryness
iC}  brought D) river.
75. Choose the word opposite in meaning to the given word :
ability
(A feasibility B} unability
[C)  disability D)  inability.
76. Choose the plural of the given word :
knife
&) knife (B] knifes IC}  knives (D} knifey.
77. Choose the correct spelling :
&) rcleve Bl recieve C) riceive (D] receive.
78. Choose the correet spelling :
{A) posess (B) possess
[C] posses (D) posseis,
79. Choose the Incorrect spelling :
(&4 loner (Bl mathemetics
C) grammar (D). arithmetic,
80. Which is not a synonym of the given word 7
quarrel
(A} argument (B) bickering
IC)  discord D)  quarry.
81. Choose the correct word order :
&) Music Jack loves (B] Music loves Jack
(C]  Jack loves music (D) Jack music loves.
82, Choose the correct pﬁnaun L
It was my brother who went with ...........
@ her B she € he (D) his.

15 |
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£3. What are words that spell the same backwards called ?
(&) Anagram (B} Abbreviation
() Crossword ) Palindrome.
84. Choose the plural of the given word :
box
(A box (B] boxer [C) boxs (D) boxes.

85. Choose the singular of the given word

leaues
&) leawve iB) leaf
) levee ()  none of these.

86. Choose the option to which you cannot add - er at its ehd and form a new word.
(&)  soon B quick
(C) tume (O} wick.

&7. Choose the best option to complete the given sentence :

There Aren't ..o people here.
i) much (Bl many
] alot (D} some.

88. Choose the best option to complete the given sentence :

You Should .....cooeerioeeenn.. your homewerk.
A} make B] do
() woTk m  glve.

89, Choose the correct word order :
(4 1lent my pencil him B) My pencil I lent him
{C) My pencil him'l lent (D) 1 lent him my pencil.

90. Choose the option to which you can add - ly at the end to form a new word.
i)  soon (Bl late

(C] mow [ fast.

OR / 31dE1
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Q1.

92,

93.

94,

SECTION - III. f YT - I
MATHEMATICS / wifora
There are 30 questions in all in this Section. All questions are compulsory.

I HHA 3097 B | Wit v sfEd ¥

A rectangular tank has length = 6 m, width = 2.4 m and depth = 1 m. Find the volume
of water if it is half-filled.

iA) 6m? B 64 m*

iy 68m? D] 72 m3.

T IEAHR T E FAE = 67, H2n = 249 9w ww = 169 F 1 sy v gan I
1 WEEA B

W emr (Bl -4

iCy 6-8#H* (D) 7-2H 2

The distance between two parallel lines

[A] decreases (Bl increases

(C) remains same i} may increase or decrease.
21 Tl st % s w1 gl

W wedt (B) =zl ¥

(C) = TEdt # (D] =2 = 9% OFdl & |
An angle measuring 270° is an example of

&) acule angle (B} obtuse angle

(C) right angle I} - reilex angle,
270° HIY W HW TH I F

) = = B sfiss o=

([C) woHm (D)  widaEdt o 1
What is the LCM of 108 and 144 7

Al 3888 By 432

iC) 648 D 216

108 ¥ 144 %1 He He T TN 7

(A) 3588 (B) 432

[C) 648 (D) 216.
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5.

96.

a7.

98.

99,

A triangle has sides that measure 5 cm, 12 cm and 13 cm. ldentify the type of
triangle.

(A Equilateral triangle (B) Isosceles triangle

{C) . Obtuse angled triangle (D) Right angled triangle.
e frue 1 yenadi = A 5 Rel, 12 & en 13 o ¥ 1 FE W wEe TRl |
W TEE e (B) wmigEE fay=

() s wo By ) e A= |

Find the sum of the largest and least four-digit numbers.

(A 9899 (BY 10000

iC) 10999 (D) 11999.

4 3 aeht gET =g dens w1 A

) 9999 (B] 10000

[y 10999 () 11999,

The temperature first rises by 18°C and then falls by 23°C. If the initial temperature is
27°C, what is final temperature ?

Ny 22°C (B 23°C

il 24°C (D) 25°C

o& § arrwm 18°C Fea € fw onec wzm ¥ 1 afs wRfis e 27°C 7, # aifom aToEE F=N
gm 7

W 22°C B 23°C
Icy 247C Dy 25°C.
Evﬂuate:'

(—2)x(-3)x(-4)x(-5)=x([-6]
) - 360 (B] 360
c - 720 D) 720.
O fafen -

l—Elx[—Elxl-fl}Kl—ﬁlxl—ﬁl
N - 360 B 360
[cy - 720 D) T20.
Subtract 3 kg lTBg[mmEkEESD £
n SHkgl72g Bl 4kg272g
C] 4kgl72g (D) 4 kg 472 ¢
gfEm 3507 & 3fEm 178 7MW w=AET |
) 5fFm 1727 ) afwm 27274
() afwm 1727H D) 4fFm 4727H |
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104,

£ Josh
Find the circumference of a circle whose diameter is 3-5 cm.
() 11-3 cm Bl 11 em
) 101 cm (D) 96 cm.
3.5 At =W T g9 F oafify #
W 11.38@ (B) . 11 %
() 10-1 %9 D) 968 |
How many wheels are there in 9 tricycles 7
" 3 B 27
(o D 18
9 grETEE o T gfgy € 7
A 3 @ 27
iy 8 o 18,
From a rope of 103 m long, 4 § m is cut off. Find the length of the remaining rope.
W 53m B 5im
() 5im D) 5im.
10 LW wfelt ww Tt @ 4 St e T | S vt @ v @
W 52 B) 5wl
[c) 53 D) 51
Evaluate : 37.188 + 3.6.
A 98 (B) 966
[C) 10-33 D) 11-6.
A FE FHIFAT ;. 37188 + 3.6,
(4 98 (B] 9-66
© 1033 D) 11-6.
How many four digit numbers are there between 999 and 3000 ?
(A} 2001 (B} 2000
01 1999 D} 1998,
999 A 3000 % 4 st Tt T dwmd ¥ 7
(&) 2001 B 2000
{C) 1999 (D) 1998,

23 |
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105. Which of the following numbers divides 9361 without any rematnder ?
) 19 B 17
) 13 o) 11.
fat 1§ e % T 4 B #R-3h Sen 9361 M faviem ww # 2
@ 19 ® 17
C) 13 o 11.
106. Carry out the operation as writlen, (9+7)+4x8=7
187 16
W Bl 39
© 20 o 3.
W (9+7)+4x5="7
187 16
W = B 30
20 D) “E.
107. Arrangement of the fractions in ascending order is
3 5 2 5 5 2 5 3
W g6 39 ® 5 398
3 56 2 5 3 2 55
© 5 9338 ® 5 3-9'6
it 1 st w0 T e
35 2 5 5 2 5 3
W g 539 B &3 88
35 2 5 3 2 5 5
C 5938 D 8 3 96
108. Martin has some marbles. He lost 14 and still had 6 left. How many did he have to
start with ?
@ 8 ® 20
c) B84 (D) None of these.

A & T T wew ¥ o A W 14 = e fE ol 6 ) ame # TeE T fem
w4 ?

v 8 B 20
() 84 D) T A F

109, Simplify : %+% :

=

(=]
wids - W

(E)
o)

A
()

of5 @~
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110.

111.

112,

113.

114,

1.7 (7
mauﬂﬁq.3+g+[lu313}

7
(] g B 1 %
a L7
9 o 1.
26x091="7
) 2.366 Bl 0.23686
[C) 23.866 (D) 2366
How many halves in 11 7
A1 B 2
3 (I3}  None of these.
1L A ot onit # 2
[PV | B 2
icy 3 (D) 9 | %1 7wt
A4 -6 +43x2-8T =7
A 37 iB)] 38
i) 73 (D) &3,
Whalt is the perimeter of a square if each side Is B-2 centimetres long 7
(Al 64-16 cm (Bl 6724 cm
iIC] 32.8 em | & 162 em,
B8-2 Wl St Wl o[ At = = qfiadta w0
(&) 64.16 HHl B) 6724 44
(C  a2.8 94 D)  16-2 3

A tin contains 20 litres of
petrol. Due to leakage, 3 litres of petrol i
per cent Is present in the t4n 7 petrel 1s lost. What

2
A 6629% B 68%

C} B82% (O} B5%,

oF o9 & = F 20 e # 1 fam '
e 20 Tm # #ma%ﬂaﬁﬁaaﬁmﬁﬁlﬁqﬁﬁhﬂ’m
W B6%% B - 68%

) 829% (D) B5%.
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116.

117,

118.

119.

120.

(Ad Rs. 40
[l Rs. 480

FAfEAT T qza Ee 20 ¥ 1 6

(A) Fe 40
{C}) Te 480
Evaluate ; V64 — 2 ga

. 3 pencils cost Rs. 20. How much will 6 dozen cost ?

(B) Rs. 48

(D) Rs. 400.
oA w1 Ed ¥ e ?

(B) %o 48

(D) Fe 400.

A 4 (B] B
(c) 16 m 32
J6d - Heamam ¥
(Ad 4 (B 8
C) 16 m 32
Wwhat is the cube root of — 0-008 ?
-2 B -02
)y - 002 > - 0002,
- 0-008 = =S ¥ 7
w -2 B -02
<) — 002 o - 0-002.
Estimate to the nearest hundred 49§ plus 318,
A 8Bla (B3) 800
(c) 178 (D) 700.
496 FrT 318 %1 FrFean dw= d W #
w814 By 800
(C) 178 (D}  70O0.
1
4-5 ="
w3 | 4
.5

i 32 o) =

3
2i+5=7 .
(A) E B 5

1 o 3.
© 3
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121,

122,

123,

124,

125,

126.

SECTION = IV / W77 - [V
ENVIRONMENTAL STUDIES / Tafa7or stoqge
There are 30 questions in all in this Section. All questions are compulsory,

T W H ¥ 30w £ | At o9 sifmd

The example of an ecosystem is

&) alr (B] pond C)  water D) soil,
TRfeufol @5 1 waew 3

W ag (B) e ) == ) =
Which is not a biotic factor 7

(A Plants (B)  Animals (C) Micro-organisms ()} Rocks.
®H A R

W e B g [C) gty D) W& |
Most plants are present in

(A lithosphere (B) hydrosphere

[C)  atmosphere ()  photosphere,

AHER Fg-dh wm o #

) wETEE g B wEHEa o

(C) vz & D) wemrEEa §

Animals that feed on other dead animals are called

A parasites (B] decomposers

€] scavengers (D) omnivores.

T S WAt Frafe 3 et Wit 51w o

W SRz B) S

[C}  whora (D)  siefER |

CNG is the abbreviation of

(A  Clean Natural Gas (B)  Compressed Natural Gas
[C)  Carbonised Natural Gas (D} Carburetted Natyral Gas.
CNG Hfire wy #

A w6 A e (B) worE da

) FEMEE Ygm e D) e Fgw mw |

Which of the R:-llnﬁmﬁ International organizations looks afier environment protectio
over the world 7

@ wwr (Bl WHO [C)  PETA D) UN.
ﬁmﬁﬁﬁ-ﬁm@um@mﬁmmmaﬂ%ﬁmm??

A WWF (Bl WHO iC) PETA D) UN.
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IlET. Too much use of insecticides will cause
(A air pollution (B) noise pollution
{C) water pollution (D) all of these,
Hrzter % st TR @ g
PV R A (B W
(C) TE wE (D) o Al
128. A salt which absorbs water is callad
(&)  hygroscopic salt [B) anhydrous salt
{C)  hydrophilic salt () hydrophobic salt.
T W W S e, wee
W T (B) T
[C) IS e (D} ETEErIEE TE |

129. The term used for the conservation of ecosystems and natural habitats and the
maintenance and recovery of viable populations of species in their natural

surroundings is
() Core conservation [B) In sifu conservation
(C} Ex situ conservation {0} Peripheral conservation.

mmﬁmmﬁmmmmﬁwﬁmﬁ,mﬁwﬂmm
T ) TEvEE v et ¥ f s W
W W T (B) T HIE
(C) SR ERH (o) el Hm oo

130. Sea turtles are called living fossils for they have been on the earth in their present
form for over 150 million years. Of the five species of sea turtles found In the waters
of the Indian subcontinent, which is the most populous species ?
{A] Keneps Ridley (B) Loggerhead
[C) Olive Ridley (D) Flatback.
Hﬂhmﬁfﬂiﬂﬂﬂﬁ“ﬁmwmi, w3 150 fofem =l @ o afuw @@ @ 9 §
sufeym & mmﬁﬂﬂwrﬁﬂiaﬁwﬁﬂ‘qﬁaﬁﬁﬁﬁawﬁﬁﬁq@mﬁaﬁﬁw
wem fFEa ¥ 7 '
W Fm fies (B TMES
() e fred D) WEEF |
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131,

132,

133,

134,

135.

136.

Which of the lollowing leads to plobal warming ¥

(A Water pollution (B)  Soil pollution

(€ Air pollution (D) Noise pollution.

A A =5 fam smm m e & 2

T R (B) =1 wgum

([C) =g v (D) & e )

Oceans cover most of the earth's surface. which is approximately

w3 ® . © 1 o 2.
WETHITL I %8 3 sfuerin e s R & S & wem

w3 ® 3 © ; o 3.
Stalactites and stalagmites consist of deposits of

W ziliea (B) magnesium carbonate

(€]  calclum carbonate (D) sodium carbonate,
AR T @i A fri g ¢

) fafew = B) #efirm sty =

(C) Ffraw wrEle = D) wifegm wEle 1

Which of the following is an example of air pollution 7

(4}  Smoke and fog (Bl Exhaust gas from cars

[©)  Gases from burning wood or charcoal (D)  All of these.

= 4§ 2 ag vgum = v TEmw & 7

W gl od FEE B) = & fawert Tt fn
(C) et et 91 e © it A (D) T & Wit

The law o prevent pollution in India and many other countries prevenis the use of
(A)  paper bags (B plastic bags

(C)  nylon bags (D) leather bags.

WA e g A9 wewm w1 G ¥ A g o e \oe. T WA v
) T A B) s & 45

IC) e & dw D) =98 % &9

Which of the following causes global warming ? :

(A} Gases from cars (B) Gases [rom trees

(€} Hot air from oven (D} Cooking gas.

R smmmE i sh st 7

W = @ fre A B) Hz-dnii B forareit #

(C)  wifgsl % Frelt wf g D) g
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137. What are metal bearing rocks called ?

(&) Bitumen [ &1] Bauxite C] Metalloids D] Ores.

uTEe wer fRd wE owm ¥ 7

g (B) T C) HerETEE (D) e |
138. Trees reduce pollution because Lthey absorb

4  sulphur dioxide (Bl carbon dioxide

(C) - carbon monoxide (D)  nitrogen,

Y- wEm w geR ¥ wife J sy st §

() EEE SRR (B) FTeE SREEES

(C) A W (D) AEgre |
139, Earthquakes are measured in

LA Beaufprt scale B decibel

[C) ~ newton D) Richler scale,

VS "I W #

() e T A () FeiteE A

) A D) T dmE A
140, RHise in water level in oceans is due to

(Al melting of ice in polar region (B] excess rainfall

(C)  acid rain ([ none of these.

aerErRl # 9w e giE w1 e

1 yEE e H aE e B) watas =l

[c) = =E D) 3§ i W
141. The percentage of oxygen present in alr is approximately

(A 44% B 23% ) 40% D) 2I%.

Tan ¥ Tufium anedter & wimma &

) 44% B)  23% (c) 0% D 21%.
142. Which is the abzolute lemperature scale 7

&)  Celstus (B) Fahrenheil (C)  Helvin (2] Al of these,

WH A9 THm SE-m g 7 _

(W) HEmm - (B)  ERERREE () e D) = A A
143. Photosynthesis is carried out by

i)  all plants (B] all animals and plants

i) all green plants D] wviruses.

wERTIE e warfe B ¥

() |t O g B) wsft g v i gm

(C) |t gt drdi g (D} =rETEl BT 4
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144, Nolse or noise pollution Is measured in

(&) phon (B _d:r.:i )  decibel ()  decimal.
wEH 9 &y A e _
) FAH B) = [C) Eedem d (D) SR
145. Which of the following is harmful for the environment ?
(A} Paper B) Clothes [C) Metal I Plastic,
= # & =1 vt & fan wifeme & 2
W T (B) 7= (C)  wg (D) i |
146. The most harmful sulphur containing gas in the atmosphere is
W s B) H,S C1 SF, D) SO,
AR H At st wewt fafa g
A s (B H,S [C) SF, D s0,.
147 Air pollution 1s reduced by
(&) trees B) fishes IC] animals (D) sunlight.
9 WY 1w W e §
W e R (B] wefeE gm (C) W g (D) w4 w=m Em |
148. World Environment Day is celebrated on
(&)  5th November Bl 5thJ anuary
({C) 5th June (D)  5th September.
Tawa wafaro femm @ o
) 5 TEE B) 5 At =
[C) 5 (D) 5 T =5t
149. Which layer protects earth from harmful rays of the sun ?
(A lonosphere (B]  Ozone layer
[C) Troposphere (D) Magnetosphere.
T & wire ol # gl = wh-m o g wmm 2
(A A HEw (B) A W
(C) & Haw (D) o= HEa |
150. Flora and fauna of a place indicate
(&) plants and animals (B] fishes and plants
(C) animals and fishes (D)  birds and plants.
ot =e & w0 v = g T
B -9 v g = B) wof ud de-d =

(C) < vE wefaf = (D) ofel wd d=-diei w5




JAGRAN

UPTET(Teacher Eligibility Test) Question Paper I- 2011 Josh

your guide to success

UTET-81-2011 32
[D]

INBTRUCTIONS [ frdm
{ Read carefully and comply/ =0 4 of 37 wrery =F )

TMPSETANT | oy
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